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FH | i
XA Ea | BAS <= <=
R ERE e
HRCRE)=&#m5 FR(CPE) % [_JL565 | 7 .500
[ JL567 | 7 800
L569 | 7 600
RAIR L562 | 7 000
[JLs564 | 7 2300
L566 | 7 0.500
FRCRE)=R)I R (PHE) S [ JLSST | 7 .100
[ JLs53 | 7 100
[ JLs55 | 7 400
L557 | 7 400 | 11.400
[OIE] L552 | 7 100 | 12.100
[JL554 | 7 0900 | 10900 |
[JLs56 | 7 11400 | 11400 | 1
L558 | 7' 10400 | 10.400 |
BRCRE) =8I RRCRE) % L 7 .200 13.200
L 7 000 | 13.000
L 7 1300 | 11.300 |
FEE L! 7 400 | 12.400 |
L 7 500
L 7 800
HERECRE)=#IK RRCRE) % L! 7 0.500
L575 | 7 .000
L577 | 7 .000
L579 | 7 300
FLRE L570 | 7 100
L572 | 7 0.600
L574 | 7 10.600 00
L576 | 7 11500 300
R (PE) =EE o (FIE) % |_JL585 | 7 10,900 300
[JLs87 | 7 9.600 000
L589 | 7 800 1.200_|
mEER | _JL684 | 7 900 3.500_|
[JL586 | 7 .600 1.600_|
L588 | 7' 900 5.700_|




LSRG IERERCAI~THERD)

SEEEAE : 2018/09/27 ~

3/1-7
78 S5
R @5 | HAS Ml
NETIEES #%
R (DE)-RBA | R (HE) % |_JLs6s | 7 600 | 76% 14,000, £:15.100
[ JL567 | 7 .800 76% :14.200, 1:14.400
L569 | 7! 600 74% :14.800, +:13.400, H:14.300
ZmA%E | _Ji562 | 7 000 | 73% :13.400
[ JL564 | 7 .300 77% :12.600 _
L566 | 7! 0.500 78% :10.800, H:12.000
FEAE N | R (AR | oot | 7 11000 [ 7es [
[ JL553 | 7 10.900 77%
[ JL555 | 7 11.600 75%
L557 | 7! 11.600 75%
JEN%E | _JLs52 | 7 11,700 |__75%
[ JL554 | 7 10.700 77%
[ JL556 | 7 11.400 76%
L558 | 7! 10.400 78% :
R Tm (PE) % | JL 7 500 | 73% 116,800, £:16.700
L! 7! .000 72% | K:13.900, %:17.500, +:16.700. B:12.500
L! 7! .500 75% +12.600, £:12.100, H:12.900
PEEs L 7 400 | 73% 5
K 7! .500 75%
K 7! .800 70%
FEAE-RE | RE (AER ok |7 100 [ 7en
L57: 7! 200 | 73%
L57 7! 200 3%
L57! 7! 200 1%
ETR 3 1570 | 7' ,200 1%
L57: 7! .200 75%
L574 | 7 1200 | 75%
L57 7! .800
FEAE-EE | R (AR | e | 7 0500 .
[ JL587 | 7 9.600 +12.200, 1:12.500,
L589 | 7! .500 :16.000, H:15.400
WEERE | Jib84 | 7 500 :15.400
[ JL586 | 7 .500 69% :10.300, H:13.500
L588 | 7! .500 64% .100, H:16.500




LS %FIEER(BAS~14AEES)

SEEEAE : 2018/09/27 ~

E 3/8-14
R @5 | HAS Ml
NETIEES #%
R (DE)-RBA | R (HE) % |_JLs6s | 7 600 | 76% 14,000, £:15.100
[ JL567 | 7 .800 76% :14.200, 1:14.400
L569 | 7! 600 74% :14.800, +:13.400, H:14.300
ZmA%E | _Ji562 | 7 000 | 73% :13.400
[ JL564 | 7 .300 77% :12.600 _
L566 | 7! 0.500 78% :10.800, H:12.000
FEAE N | R (AR | oot | 7 11000 [ 7es [
[ JL553 | 7 10.900 77%
[ JL555 | 7 11.600 75%
L557 | 7! 11.600 75%
JEN%E | _JLs52 | 7 11,700 |__75%
[ JL554 | 7 10.700 77%
[ JL556 | 7 11.400 76%
L558 | 7! 10.400 78% :
R Tm (PE) % | JL 7 500 | 73% 116,800, £:16.700
L! 7! .000 72% | K:13.900, %:17.500, +:16.700. B:12.500
L! 7! .500 75% +12.600, £:12.100, H:12.900
PEEs L 7 400 | 73% 5
K 7! .500 75%
K 7! .800 70%
FEAE-RE | RE (AER ok |7 100 [ 7en
L57: 7! 200 | 73%
L57 7! 200 3%
L57! 7! 200 1%
ETR 3 1570 | 7' ,200 1%
L57: 7! .200 75%
L574 | 7 1200 | 75%
L57 7! .800
FEAE-EE | R (AR | e | 7 0500 .
[ JL587 | 7 9.600 +12.200, 1:12.500,
L589 | 7! .500 :16.000, H:15.400
WEERE | Jib84 | 7 500 :15.400
[ JL586 | 7 .500 69% :10.300, H:13.500
L588 | 7! .500 64% .100, H:16.500




LS GFIEER (BA15~20B %)

SEEEAE : 2018/09/27 ~

E 3/15-20
RS % | s — TS ER
B | mmm |5
#31=
TR (B -KBA | A CRE) R | J566 | 7 700 | 75% [&:15000.
[ JL567 | 7 .300 5% :15.200, 1:14.600.
L569 [ 7! 700 74% :15,000, £:13.400, H:14.300
mA% [ JL562 | 7 .100 3% 214,000, £:13.800, H:13.400
[ JL564 | 7 .300 75% :12.600 _
L566 [ 7! .500 76% :11.800. H:13.200
TR OB TR | B (HE % [_JLssi |7 200 | 76% [F:11
[ JL553 | 7 0.700 77% [7k:11.200, & 00
[ JL555 | 7 11.400 76% |7 11.600, £:15.500, B 00
L557 [ 7! 11.400 76% |7 11.600, £:16.500, H:12.700
TS | U652 [ 7 11,700 | 75% |%: 00
[ JL554 | 7 10.700 T7% |
[ JL556 | 7 11.400 76% | A
L558 [ 7! 9.900 79% [N
ERCEE I K C T ] e 600 | 734 |2
L! 7 700 70% B
L! 7 .800 4% | 7K:12.!
IER L! 7! 700 72% | H:12.400, £:13.600, 1:13.900, B
L! 7 200 74% [ H:11.500, £ +:13.600. B
L! 7 .600 0% |7K: 21471
TR B BE | B (HE R [ 613 |7 0800 | 764 |duk:
L57 7 .200 3% |
L57 7 200 73% | &
L57: 7 .000 1%
ESR) L570 | 7 200 | 71%
L57. 7 200 75%
L57. 7 200 75%
L57 7 .800 74% Y
TR BB | B (WED R | _JLses |7 900 | 68% [£:14,900. £
[ JL587 | 7 0.600 72% [#:15.000, +
L589 [ 7! .900 63% :13.500, #:16.900, +:13.600
WREs | Ji5s4 | 7 500 | 50% |AA:14
[ JL586 | 7 600 66% | 1:11.300, H:13.4(
L588 [ 7! .600 61% [H:13.500, #£:16.200, 1:14.000, H:15.100




TS5 RB I EER(3A25~30BEES)

EEHEAR 2018/09/27 ~
3/25-30
4 Tm
= ®% | mAM DNPIRE
B | mmm |5
#31=
TR ) ERH | Fom R 5 |_JL56s | 7 700 [ 75%
[ JL567 | 7 .300 5%
L569 [ 7! 700 74%
e L562 | 7. 100 | 73%
[ JL564 | 7 .300 75%
L566 [ 7! .500 76%
TR RE TN | F (E % | JL651 | 7 200 | 764
[ JL553 | 7 0.700 7% N
[ JL555 | 7 11.600 75% X:11.400, #£:12,700
L557 [ 7! 11.600 75% | B k:11.400, £:12.700
FEIES 1552 | 7' 11,700 | 75% | £.12.200
[ JL554 | 7 10.500 77 A:10.700
[ JL556 | 7 12.300 7 F:11.400. #:12.800, 1:10.800
L558 [ 7! 10.800 7 F:9.900. £
TR RE) -85 | R (HE % | Jbat |7 300 | 71% |FH:12.600. &
L! 7 700 70% A:13.000, #
L! 7 000 74% A:11.300, %
PEEs L 7 900 | 72% |F:12.400. %
L! 7 200 74% A:11.500, &
L! 7 .600 70% :14.200
e PH) B R HE) % |_JL 7 0700 | 76% |H:10.800, 2:12.700. :14.100
L57 7 .200 3% :11.200
L57 7 .200 3% o
L57: 7 .400 70% [ A
ETR 3 1570 | 7' 200 | 71% |&:
L57. 7 200 75%
L57. 7 200 75%
L57 7 .300 3% X
ESACEE BR(FME)$ [ JL585 | 7 .900 68% 14.900
[ JL587 | 7 0.600 2% 112,500, £:12.800
L589 [ 7! .900 63% :13.500, %:16.000, +:13,600
EEER [ JL584 | 7 .600 59% | H:14.500, XJK:15.500
[ JL586 | 7 600 66% | +:11.300
L588 [ 7! .600 61% | H:13.500, 1:14.000

JAL



TS5 RBIEER(BA21~24BHEES)

SEEEAA . 2018/09/27 ~
Fy (o
XA BE | BAY “=
R ERE
HRCRE)=&#m5 FR(CPE) % [_JL565 | 7 .100
[JLse7 | 7 300
L569 | 7 800
RAIR L562 | 7 200
[JLs64 | 7 300
L566 | 7 500
EEE R R (FE) R |_JL561 | 7 200
[JLss3 | 7 700
[JLss5 | 7 200
L5567 | 7 600
FEIIES L552 | 7 200
[JLs54 | 7 500
[JL556 | 7 700 . 1
L558 | 7' 800 | 11.800 |
RR(PE)-H® | Fom(RE) & [ JL 7 200 | 14.200
L 7 200
L 7 200
EEE] L 7 000
L 7 200
L 7 700
HERECRE)=#IK RRCRE) % L! 7 700
L575 | 7 700
L577 | 7 700
L579 | 7 400
FLRE L570 | 7 700
L572 | 7 200
L574 | 7 200
L576 | 7 300
R CRE) =& HRCRME) % [_JL585 | 7 .900
[Jiss7 | 7 600
L589 | 7 900
WRE% | _JLbs4 | 7 100
[JLss6 | 7 600
L588 | 7 700

JAL



